[N of reco track vs normalized x2 ]

| N of associated (recoToSim) tracks vs normalized x?

Nof as:

sociated (recoToSim) looper tracks vs normalized x*

2 F R L2 F L
g g 8 g
=1 ol ol0 i
3 = 8 g
4-_ 4 = EJL
10 E 10 E 10 S 10
10°F
10°F 10°F
10F
F T o TITE o o
T 3 s
1T Tl g B IR & &
Al T
10 12 14 6 18 20 O"O 2 4 6 8 10 12 14 16 18 20 o 0 8 10 12 14 16 18 20
track x2 track x2 track x2 track x?
okt £CO
reco track vs. § L‘OJE E l mééﬁmeoRECO rerset
2 2 R 2
8 s 8 g 8
E107F =107 = =1
. @ ol o
2 5 ]
& =K - kst
10°E 10°F s
1 S 10
10°F 10°E
W, 10
o [y
10°E " '
10
QRS b 1111111110100 1040000000011 o
=1 0000000 0 00 0 =
© ol
o 04

P




	Contents
	Page 1


